Part I: The Chief Financial Officer
The Chief Financial Officer (CFO) of an organization has responsibilities that include internal financial control of the organization, financial reporting (external financial accounting), financing the organization, assessment of the capital budgeting process and an array of additional responsibilities. The CFO must have an external orientation: After all, the company is owned by its shareholders and if the company is to operate so as to raise the value of  the shares it must consider not only the internal structure of the organization, its products, competitors etc., but the interaction between what the company 'does', and the way the 'market' evaluates its performance. It is the combination of the two that plays a roll in affecting the market price of the shares and shareholders value. The persons who must have an eye on this is usually the CEO and the CFO.
Read the two articles below, look for newer articles on the subject by browsing the web and then write a two-page paper answering the following question: 

Do you think finance departments are the best place to train future CEOs?  
Include a discussion of both the pros and cons of hiring a CFO to be CEO.  Try to cite at least three articles in your paper in support of your arguments in favor of and against hiring a CFO to be a CEO. Remember to include a reference list and to refer to the articles you use in the body of your paper. 

Please read the articles below, which are both available in Proquest.   
    Brewis, J., (1999), How a CFO can graduate to CEO, Corporate Finance; London. 
    Picker, I., (1989), Do CFOs Really Make Good CEOs, Institutional Investor; New York. 
 

Part II:  Concepts of present value and application to certainty cash flow
Note: It is recommended that you use a spreadsheet such as Excel in order to solve the following problems.  See example for the computations using Excel spreadsheet here.
1.  Suppose you have two bank accounts, one called Account A and another Account B.  Account A will be worth $4,700.00 in one year.  Account B will be worth $7,900.00 in two years.  Both accounts earn 3.8% interest.  What is the present value of each of these accounts? What is the present value of the two accounts together?
2. Suppose you just inherited an oil field.  This oil field mine is believed to have three years worth of oil deposit.  The net income this oil filed is projected to bring you each year for the next three years:
Year 1: $26,000,000
Year 2: $64,000,000
Year 3: $57,000,000
Compute the present value of this stream of income at a discount rate of  6%.  You are to arrive at the present value for a whole stream of income, i.e. the total value of receiving all three payments. This is actually the value of the oil filed.
You compute this by computing the present value of each component of the cash flow (each year's proceeds) with regard to the time you receive the amount, and then add together the three present values in order to get the present value of the oil field. (See the example in the spreadsheet).
Now re-compute the present value of the income stream from the gold mine, or the value of the oil field at a discount rate (or cost of capital of the company) of 12%. Re-compute it again using a discount rate of  10%, then at 8%, 6%, 4% and 2%. Compare the present values of the income stream under the different discount rates.
Show your calculations and write a short paragraph with conclusions from the computations.
3.  The Net Present Value (NPV) criterion for investment decisions states that the organization should accept all investment projects whose NPV is positive. An alternative criterion is the Internal Rate of Return (IRR) criterion. The Internal Rate of Return (IRR) of a project is the discount rate at which the NPV of the project is exactly zero. The internal rate of return can easily be computed using Excel spreadsheet: Insert the initial investment as a negative number in cell A1, and the net proceeds from the investment in cells B1, C1, D1 etc. Suppose there are 5 annual proceeds from the investment. Then you insert the five proceeds in cells B1, C1, D1, E1 and F1.  In order to find the IRR of the investment you use a function that exists in Excel: Bring the cursor to cell G1, and type: 
    =irr(a1..f1,0.1)  where a1..f1 is the range where you inserted the numbers, and 0.1 is a 'guess' that you must insert.
    For example, if the initial investment is $1000, the annual proceeds are $200, $250, $300, $350 and $400 in 1, 2, 3, 4 and 5 years, then the spreadsheet will be as follows:
	-1000
	200
	250
	300
	350
	400
	13.453% 
	$101.24743


     The number 13.435% is the IRR of the investment. The NPV at a discount rate of 0.10 (or 10%) is $101.24743.
    The NPV is computed using the following function (in cell H1):  1.10*npv(0.10,A1..F1)
(a) Insert the numbers of the example in an Excel spreadsheet, insert the 'functions' and verify that you indeed obtain the same IRR of 13.453% and NPV at 10% of 101.24743.  See again the example spreadsheet
(b) Suppose your company is considering the following investment proposal: 
     Invest now: -$16 million; 1 year from now the net cash inflow is $3.3 million; 2 years from now the net cash inflow is $2.7 million; 3 years from now the net cash inflow is $3.7 million; 4 years from now the company gets a net cash inflow of $10.7 million. 
     Compute and report the Internal Rate of Return (IRR) of the project (accurate to 2 digits after the decimal point) and the NPV at a discount rate of 8% (0.08).  This discount rate is also called "The Cost of Capital of the organization". Would you recommend the organization to undertake the project based on the IRR criterion? Based on the NPV criterion? Explain. 
(c) Compute and report also on the NPV of the same investment for alternative costs of capital (discount rates) of 0% (0.00), 4% (0.04), 8% (0.08), 12% (0.12) and 16% (0.16). You may plot a diagram where on the horizontal axis you mark the discount rate or the cost of capital, and on the vertical axis the Net Present value of the proposed investment. What trend do you observe in the NPV as a function of the cost of capital of the firm?
The ENTIRE report should be four to five pages in length. Be sure to include a reference list. 
